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Тема: Ряды

Задание. Исходя из определения найти сумму ряда

S =
∞∑

n=1

2

n2 + 6n + 8

Решение. Разложим дробь на сумму простых дробей:

S =
∞∑

n=1

[
1

n + 2
− 1

n + 4

]
.

Тогда
S1 = 1/3 − 1/5, S2 = 1/3 − 1/5 + 1/4 − 1/6,

S3 = 1/3 − 1/5 + 1/4 − 1/6 + 1/5 − 1/7 = 1/3 + 1/4 − 1/6 − 1/7,

S4 = 1/3 + 1/4 − 1/6 − 1/7 + 1/6 − 1/8 = 1/3 + 1/4 − 1/7 − 1/8, ...

Sn = 1/3 + 1/4 − 1

n + 3
− 1

n + 4
= 7/12 − 1

n + 3
− 1

n + 4
.

Отсюда
S = lim

n→∞
Sn = lim

n→∞
(7/12 − 1

n + 3
− 1

n + 4
) = 7/12.
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